
Math 2568, Quiz #4,

Instructions: Show all .  Some problems wil l  instruct you to complete operations by hand, some can
be done in thre calcul To show work on calculator problems, show the commands you used, and the
result ing matrices. answers (yes, that means fractions, square roots and exponentials, and
not  dec ima ls )  un less l ly directed to give a decimal answer. This wi l l  require some operat ions to
be done by hand even i f ot specif ical ly directed to. Be sure to complete al l  parts of each question.

1,.  Determine i the system

-4xo+xs  =0

3xr+3x ,  -x :  =0
has a tr ivial or non-tr ivial

\ + 4 x 4 * 6 x ,  = Q

2x, +3x I x+ -2x, = g

so lu t ion . l f  the solut ion is non-tr iv ial ,  wri te the solut ion
prarametr ic
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2x' -5x' * 8x' = o 
nff i  a tr ivial or non-tr ivial solution. Then-3*, * 4x, +2x, = 0

lf the solution is non-tr ivial,  write the solution in parametric form.
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2. Determinethe system
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